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Y = S + C 

 Y 

 C 

 S 

:
APS (Average Propensity to Save : 

)  1 
MPS

(Marginal Propensity to Save : )

 1 

:

James S. Duesenberry 

APC 

APC

APC
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       CLR = bY 

CSR  =  Ca + bY  

        C0   

         C ,
2

       C2

                          0                  Y2             Y0

2.1

1 CLR  =  bY  

Y0

C0 Y2

C0 C0

C’2 C2 C   

=   Ca + bY

C  =  Ca + bY APC > MPC C  =  bY APC = MPC 

Franco Modigliani, Albert Ando Richard Brumberg  
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 2.2

 2.2 

 yy 

 cc  yy  cc 

 Milton Friedman A Theory of Consumption Function 

. . 1957 Friedman  John Maynard Keynes 

Friedman

 (long term income) 

2  (permanent income)  (transitory income) 

2

 (permanent consumption)  (transitory consumption)
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     Friedman 

     1) 

   2) 

3)

 ( )

 Friedman 

 (human wealth)  (non-human 

wealth)

           LC 

SC

 2.3 
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2.1.2
   

(Theory of choice)   (Money  

income)  

(Maximize  utility)  

  Von Neuman    Morgenstern  

 (Axioms)  

 ( )

 ( )

 2.1 

 2.1 

 (s1)  (s2)
W – h 

W – L 

P

W – h 

W

(1 – P) 

   W   

   h      (Insurance  premium) 

   L    (Loss) 

   s1, s2  2 

   P  0 < P < 1 
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   (1-P) 

   i  1  2 

 i (i = 1, 2)   W(s1)

  1)  (h) 

  (W-h)  

 P  (W-h)

    = (P, W-h) 

  2)  L 

 P   ( )  (1-

P)   W-L  W 

 = (P,W-L,W) 

 s1  s2

 = [P, W(s1), W(s2)]

    E(W) = P[W(s1)] + (1-P)[w(s2)]

 ( )

    U[E(W)] = U[P[W(s1)] + (1-P[W(s2)]]

 (g) 

    g = g[W(s1), W(s2);P,(1-P)]

 1  2  s1  s2

 P  (1-P) 

 U = U(W) 

 Axioms 

    E[U(W)] = PU[W(s1) + (1-P)U[w(s2)]
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    U[P[W(s1)] + (1-P)[W(s2)]] = PU[W(s1)] + (1-P)U[W(s2)]

 (g) 

  g[W(s1), W(s2); P,(1-P)] = PU[W(s1) + (1-P)U[W(s2)]

 (s1  s2)

 (Risk averse) 

 (Risk lover)  (Risk neutral)  

 1  (h) 

 10,000  (W3)

100 (U3)  5,000 

 5,000  (W1)  50 (U1)

 5,000  0.1 

 10%  

 P × L = 0.1 ×5,000 = 500 

 500  10,000  (W3)  9,500 

 (W3)

 1.  500  ( )

 2.  10%   5,000 

 50 (U1)  5,000  (W1)
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90%   10,000  (W3)

 100 (U3)

 1  2 

 (  2) 

 2 

    P(U1) + (1-P)U3 = 0.1(50) + 0.9(100) = 95 

 4 

 (U3, W3)  (U1, W1)

 2  U4 = 95  A 

 (100) U3            B ( U3,W3)

 (95) U4      A 

 (50) U1            C (U1, W1)

       0       W1               W2   W3  (Wealth) 

 2.4 

 (  C) 

 (  B) 
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 1  2 

 (Concave)

 (Decreasing marginal utility with respect to wealth)  2 

 1 (U2 = 99)  2 

(U4 = 95) 

(Actuarially fair premium) 

 2.5 

 (Decreasing marginal 

utility with respect to wealth)  

 (Constant marginal utility) 

 ( )

                B 

        (100) U3             

          (99) U2     D  

         (95) U4         F 

      A       G 

         (50) U1

          

         0           W1       W2                     W3  (Wealth) 

 2.5 
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 2  W3 – W2

 U2   U4 (99 > 95)  

 (500)

 (U4 = 95)  

 5,000  (W3-L)

 P 

    (P, W3 – L, W3)

 R 

 (W3 – R) 

 R 

   U(W3 – R) > PU(W3 – L) + (1 – P)U(W3)

 P × L = 0.1 × 5,000 

 R  (P × L) 

 R   R 

 2.5  W2W4

 (R)   W3W4  FG 

 2.6 

 ( EF)
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 ( AB)

 ( CD)

 4 

 AC  W3 –W1  W3 – W5

 AB  

 AB  AC 

 2.6  2.7 

          B            A 

                                   D          C 

         F           E 

       0        W1     W5        W4           W2     W3             (Wealth) 

 2.6 
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                  A

        B

          C

       0         W1   W5          W3  (Wealth) 

 2.7 

 (W)  

 Concave  Convex 

 2.8  0  W0

 W0
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       0    W0     (Wealth) 

 2.8

 1. 

 2. 

 3. 
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2.2

(2535)
. . 2517-2533

560

(2539)
. . 2535/2536

2536

/
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(2543)

300

4

39.17

22.41

/
2

95.2

41.20

35.71 28.57

(2549)

 0.905 
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 99,457 

 0.904  1 
 3,239 

 2,493 
 8,283 

 0.100  1 
 3,380 

 3,366 

 (2551) 

 331  69 

 331 

 46-50 

 2  30,001-40,000 

 30,001-40,000

-

 2 
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 100,001-500,000 

 1,001-

5,000

 10-12 

 Chi-square   ( 2-test)

 = 0.05 

 (2551)
 47.58 

23.40

527,438  2 

 467,629  1 

391,454  900,001 

 720,234 

  450,001-600,000 

 3  1 
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